J U
SOLTECH

$¢SPECIFICATION

DIRECTIONAL CONTROLS
SOLENOID CONTROLLED PILOT DIRECTIONAL CONTROL VALVES

[DSHG-03/04/06/10)

Model Max. Flow Max. Pressure | Pilot Pressure | Weight
(€/min)/(U.S.GPM) ( MPa)/(PSI) ( MPa)/(PSI) (kg)
DSHG-03 150(39.6) 31.5(4570) 25(3630) 5.4
DSHG-04 6.2
SsHGoaAg | 30079.3) 31.5(4570) 25(3630) .
DSHG-06 12
DSHG06.AB | 20032) 31.5(4570) 25(3630) )
DSHG-10 50
SSHG.10AB | 1100(291) 31.5(4570) 25(3630) 51c
*ACCESSORIES
Model Socket Head Screw Cap O Ring
European Design Std. North America Design Std. (JIS B 2401-1B)
DSHG-03 M6 x 40 Lg. 1/4-20 UNC x 1-1/2 Lg. 4 | Pcs P12 5| Pcs
M6 x 45 Lg. 1/4-20 UNC x 1-3/4 Lg. 2 | Pcs P9 2| Pcs
DSHG-04-(AB) M10 x 50 Lg. 3/8-16 UNC x 2 Lg. 4| pcs P22A 4] Pcs
P14 2| Pcs
DSHG-06-(AB) M12 x 60 Lg. 1/2-13 UNC x 2-1/2 Lg. 6 | Pcs P32 2] Pos
P20 2| Pcs
DSHG-10-(AB) M20 x 75 Lg. 3/4-10 UNC x 3 Lg. 6 | Pcs 12 2 Pos
** MODEL NUMBER DESIGNATION
DSHG 04 3C60 AB (E) (T) (90)
VALVE SIZE
03:
1ISO 4401-05, CETOPS5,
NFPA-DO5
04: DESIGN NO.
- . OMIT:
: 06: TYPE HANDHOLD |OMIT:INTERNAL PILOT bRAW 90:
. UNC BOLTS
1ISO 4401-08, CETOPS, (NORTH AMERICA)
NFPA-DO8
10:
1ISO 4401-10, CETOP10,
NFPA-D10
** PERFORMANCE CURVE Spool Pressure Drop Curve Numbers
Type P—A B—T P—B A—T PoT
PSI MPa DSHG-03 @@ @ 2 3 3 2 2
g 30020 yAvAy 4 3 5 5 5 6 4
a 2501 16 / = 4 3 5 4 6
8 200 5 40 3 3 4 4
© 10l 12 5 6 3 4 6 2
)
@ 0.8 60 3 3 4 4 1
g 100 7 3 3 4 4
0 0 40 80 120 160 L /min 10 3 > 4 4
‘ ‘ ‘ ‘ 1 6 3 4 4
0 10 20 30 40 U.S.GPM 12 3 3 4 6
Flow Rate
Spool Pressure Drop Curve Numbers
DSHG-04 Type P—A BT P—B AT PoT
2
PSI MPa 1 ﬁ) 2 5 4 5 6 —
Q 180, Q /@ 3 5 3 5 5 7
160
- / 5 4 5 3 5 5
[oN
g 120} o8 / r‘@ 40 5) 4 5 6 o
p (1) 5 7 4 5 5 5
> 8o 6 5 3 5 6 1
2 0.4 P 60 7 5 7 7 2
& 4ol % 7 5 4 5 6
ol 0 = 9 5 4 5 5
0 50 100 150 200 250 300 L/min 10 5 2 5 6
| | | | | | | |
0 20 40 60 80 U.S.GPM = 6 4 5 6
Flow Rate 12 5 4 5 5

PAGE 29



+ DIRECTIONAL CONTROLS
i

SOLENOID CONTROLLED PILOT DIRECTIONAL CONTROL VALVES

SOLTECH
Spool Pressure Drop Curve Numbers
DSHG-06 Type P—A BT P—B AT P—T
PSI MPa i §:) 2 8 > 8 !
o 30029 3 6 4 6 7 4
S e 4 8 5 8 7
g 16 /@ 40 8 5 8 7
5 2001 5 5 8 4 5 7 1
£ 150 (6 6 5 3 5 4 1
@ 100} °8 N0, 60 6 5 6 7 1
T ool 04 7 6 4 6 7
o 9 6 4 6 7
0 100 200 300 400 500 L/min 10 8 5 ) 7
| | | | | | | 11 8 4 5 7
0 20 40 60 80 100 120 140 U.S.GPM
Flow Rate 12 8 5 8 7
Spool Pressure Drop Curve Numbers
DSHG-10 1 Type P—A BT P—B AT P—T
PSI MPa 2 9 6 9 8 o
o 3% 20 /@ 3 7 6 7 7 5
o 2501 ¢ /@ 4 9 6 9 6
5 2000 (5 40 9 6 9 8
s 2 e
g oo /\. 60 8 5 8 5 2
a 0.4
50 ® 7 7 6 7 7
0 0 100 200 300 400 500 L/min 9 7 6 7 8
| | | | | | | 10 9 5 9 8
0 20 40 60 80 100 120 140 U.S.GPM 11 9 6 3 7
Flow Rate 12 9 7 9 6
#FUNCTION DESCRIPTION
: Pipe plug
Pipe plug . .
DSHG-03 Removed for internal pilot Removed for internal drain
%@@ S
DSRG0S Section X-X Section Y-Y
Removed for internal pilot model Removed for internal drain model
N\ -
C% & éi +
DSHG-06/10 T Yy
Removed for internal drain model Removed for internal pilot model

C

il

A
N

PAGE 30



—J’L DIRECTIONAL CONTROLS
i

SOLENOID CONTROLLED PILOT OPERATED DIRECTIONAL VALVES

SOLTECH
DIMENSIONS UNIT: M.M.(INCHES)
DSHG'03 i 48(1.89) "A"C1 Cylinder Port "A” “P“1 Pressure Port "P”
% % Z‘g@ \ \ “B“[1 Cylinder Port "B” A
O
| I, VAN
. 1IN 1\@,\% N
3 = | E D,
—~ 4 A (PNSPZA\UZN
: : M =5
5 ~ 5 : X
R i o = 50.2(2.33) | 54(2:13) ]
IR - 172.4(6.
216(8.5)
= = | - “T"01_Tank Port T”
ik Al NS
i, 2 “Y"& |22 37 Pilot Drain Port "Y”
SRS 3 L] 70(2.76) "X“8 |51 Plot Puressure Port X"
w2PT 116 5 [-EJa] Mounting surface
To install PT 1/16 when BEFIAMEB IR - fPT 1/16 42 REpmT
use external pilot To install PT 1/16 when use external drain
DIMENSIONS UNIT: M.M.(INCHES)

DSHG-04 .
To install PT 1/16 when use external pilot i aupe

BEFIANEDS [ - PT 1/16%E FHIm

‘ Pilot pressure port "X"
"P"[1 Pressure port "P" A
ok MAX. 186(7.32)
@ “T"[1Tank port "T" | _42.3(1.67) 101.5(4.00)
34(1\34)
- = ya
5 ORI C)=

Q _
~| O ,’\‘
=t B 5|e 3 [
~ o = 1= 1= 5
E - S pad < / =3\ /%‘ ¥ “\
o % ci‘,', | NI Oy
~ q'\ BT\~ RX",
et e Rl il AN il
? ﬁiﬁ o 50(1,97) 4x@11(0.43)
i AT T 126(4.96)
BEFTS MRS - FPT 1/16%45 [-ETA] - = Cylinder port "A "B
To install PT 1/16 when use external drain / . 2x@7(0.28) Cylinder port "B"
E &[4[y Pilot drain port ™Y"

Mounting Interface

DIMENSIONS UNIT: M.M.(INCHES)

DSHG-O4-AB To install PT 1/16 when use external pilot

BEFIANADS 25 > FPT 1/16%& REIA]

171(6.73)

] - - o SR
P"L1 Pressure port P Pilot pressure port "X"
"T" Tank pOI‘t T
HA\MAX. 310(12.20)
104.3(4.11) 101.5(4.00)
\34)

- J{ﬂ LE

D S—
J777 3 4 ] ?ﬂ ": 1 \\L/ 5
B " i Bl i
@\ 5’ Q 5”1’ /‘\\\ /D/‘\ \
Slo i< 7 Sz
R © .
Ao LB ‘
B FY MRS > JPT 1/1645 1 HTa] < fle 2| 42l 1.97
To install PT 1/16 when use external drain =< (043) | 126(4.96) 2x@7(0.28)
Cylinder port "A"  / "B
® 0 "AC Cylinder port "B"
AT 5 |2 [a]d 1Y Pilot drain port "Y"
Mounting Interface\

PAGE 31



SOLENOID CONTROLLED PILOT OPERATED DIRECTIONAL VALVES

—J’L DIRECTIONAL CONTROLS
i

SOLTECH
DIMENSIONS UNIT: M.M.(INCHES)
DSHG-06
ﬂ (L] i W_:H
L L
‘ B FYMEBIOD S - BFPT 1/16 5 FHTA]
To install PT 1/16 when use external drain
__HT ﬁ__ Mounting interface
"T"[1 Tank port "T" "P"[1 Pressure port "P"
256(10.08) UN i
51(2.01) 130.2(5.13) ELLE IR % %

oo

BEFISIMNELS | 2 AP

53.2(2.09) Pilot drain port "Y"
EEiEE
-+ -

o ™g
© © oo \ B '
< )
SR ) =P [~ Y4PT 1/16 # |-F[Ja]
dlgi|s / AN To install PT 1/16 when
~ L use external pilot
0 § 77(3.03) 6x213(0.51) Lﬂ E %
~ —
161(6.34) "B"[1 Cylinder port "B" —
SIS X" "A"[1 Cylinder port "A"
Pilot pressure port "X"
DIMENSIONS UNIT: M.M.(INCHES)
ﬂ & PN ﬁ 39(1.54)
1] I
EEFHSMER Bl - RFPT 1/16 2£ - RIA]
To install PT 1/16 when use external drain
[ ol T [ g ey
T"01 Tank port T "P"[1 Pressure port "P" T ﬁ'ﬁtﬁf
380(14.96) ounting Intertace
113(4.45) 130.2(5.13) 5 EH Oy
153.2(2.09) Pilot drain port "Y"
\
e
’La ("VJ\ :r 1 S "/
©| ©| © ONEBRO
= v ﬂ TR
0| | < ;
= EE B = N ) ,
¥ e 3BEFEI SN 20 R
SIS ¥5PT 1/16 45 -] AP &
77(3.03) | \ 613 Toinstall PT1/I6 ®
i . 0.51 when use external pilot et
_ 5 [HEEE S  X 161(6.34) (0-51) o S
Pilot pressure port "X" . Lﬂ u N
"B"[ Cylinder port "B" C & B
"A"[] Cylinder port "A" i }1 %

PAGE 32



%#é

SOLTECH

DIRECTIONAL CONTROLS

SOLENOID CONTROLLED PILOT OPERATED DIRECTIONAL VALVES

DIMENSIONS

UNIT: M.M.(INCHES)

DSHG-10

—

HEISMEREDEES - RFPT 1/8 4E RRIA]

AR

APB

265.5(10.45)

"T" [1 Tank port "T"

To install PT 1/8 when use external drain

388(15.28)

"P" 1 Pressure port "P"

BEFHHMERS 2505 - KEPT 1/8 4% FH[Ta]
To install PT 1/8 when use external pilot

83.8(3.30

190.5(7.50)

76.2(3.00)

I—

—~| o]
~
© 3 &
By
Q| Sl m
O | O <
N o<
4 o
N~

5 el Y

Pilot drain port "Y"
3 el

0.6

5RO X

Pilot pressure port "X"

2x pEEfL M8x1.25 =\ =N

Li \1

?8%72)2 2 Holes for hanging ring .
| g\

"B" [1 Cylinder port "B"

"A" [1 Cylinder port "A"

Mounting interface

DIMENSIONS

UNIT: M.M.(INCHES)

DSHG-10-AB

BEAISMEBIELIHIE - #5PT 1/8 2 FHIA]

{;H i

IE

265.5

X A

"T" [ Tank port "T"

To install PT 1/8 when use external drain

BEFHYMERS [ o K PT 1/8%5 RAH

A Max. 565(22.24)

"P" [1 Pressure port "P"

388(15.28)

83.8(%30) 190.5(7.50)

76.2(3.00)
\

200(7.87)
158.8(6.25)

79.4(3113)

(0.81)

5 [HER g1 "X

Pilot pressure port "X"

2x miEfL M8x1.25

; 2 Holes for hanging rin
\ \ 6x222(0.87) ging ring

"B" I Cylinder port "B"

"A" [I Cylinder port "A"

5[ [ElH Y
Pilot drain port "Y"

To install PT 1/8 when use external pilot

Mounting interface

PAGE 33



+ DIRECTIONAL CONTROLS
i

SOLENOID CONTROLLED PILOT OPERATED DIRECTIONAL VALVES

SOLTECH
MOUNTING INTERFACE DIMENSIONS UNIT: M.M.(INCHES)
_ 62(2.44)
DSHG-03 54(2.13)
50.8(2.00)
37.3(1.47)
27(1.06),
16.7
3.2(0.13)_| (0-66)
g 8(0.31)_ |
: P
&l2|3 B A
Bl E! @ i @
EEIE l T DSHG-04
| ps 5 | 101.5(4.00)
- f -@D- 88.1(3.47)
7‘4JH¥‘4; ~ ' ‘Aflmiiif 65.8(2.59)
_ 50(1.97)
8 34(1.34)
oy - J/\J © O 3 ]
s () @@ﬁv ‘f@jﬁ -
243 g Ny Y ﬁ_
SRR N .
da 8| T —_P « | @
i =N D) © F
AN Of
\
18.3(0.72)
34(1.34)
50(1.97)
76.7(3.02)
MOUNTING INTERFACE DIMENSIONS UNIT: M.M.(INCHES)
DSHG_O6 130.2(5.13)
100.8(3.97)
77(3.03)
53.2(2.09)
29.5(1.16)
17.5(0.69)
SIEPNG
2 DSHG-10
sl @) @ an
o o 3 3 L M 8 190.5(7.50
ol © & X B A o ( )
ol &3 = 147.6(5.81)
g 5 " T P Y = 114.3(4.50)
W @ \@ @ 82.5(3.25)
\@ f*\/ 5 41.3(1.63)
\ 29.4(1/16 ! [ - A g
{116) = N\ N\ N o
53.2(2.09) R o= Q@)(iz§> ﬁﬁim 8 5
77(3.03) ~ & g H ¢
94.5(3.72) § AR j> X A\E:éyB = &
112.7(4.44) § g T P Y 3
3 =) ﬁfim @E =i
o
JERY /AR O
© /
41.3(1,.63)
76.2(3.00)
114.3(4.50)
147.6(5.81)
168.3(6.63)

PAGE 34



JU

SOLTECH

DIRECTIONAL CONTROLS
SOLENOID CONTROLLED PILOT OPERATED DIRECTIONAL VALVES

ASSEMBLY

DSHG-03

Item No.

Part Name

Quantity

1

Valve Body

1

Plug PT 1/16

Plug PT 1/8

JIS B 2401-1B-P9

JIS B 2401-1B-P28

Spool

Washer

Spring

OO |(N|oO|a|~jw|N

Cover Plate

Plug PT 1/16

O INININ|IP|IN|(O|FR|W

P
[l =]

Bolt M8X30L

DSHG-04

Item No.

Part Name

Quantity

1

Valve Body

1

Plug PT 1/8

Plug PT 1/16

Spool

Washer

Spring

JIS B 2401-1B-P9

Olo|N/oO|a|~|w|N

JIS B 2401-1B-P22A

Cover Plate

OINININININ[(FP|Ww|N

N
o

Bolt M8x30L

PAGE 35



=|Jh|§

DIRECTIONAL CONTROLS
SOLENOID CONTROLLED PILOT OPERATED DIRECTIONAL VALVES

SOLTECH
ASSEMBLY
DSHG-06
Item No. Part Name Quantity
1 Valve Body 1
2 Plug PT 1/8 2
3 Plug PT 1/16 3
4 Spool 1
5 Washer 2
6 Spring 2
7 JIS B 2401-1B-P9 2
8 JIS B 2401-1B-P32 2
9 Cover Plate 2
10 Bolt M8x30L 8
DSHG-10
Item No. Part Name Quantity
1 Valve Body 1 \\\\
2 Plug PT 1/16 2 AN
3 Plug PT 1/8 3 >
4 Spool 1 - -
b Washer 2 .
6 Spring 2
7 JIS B 2401-1B-P14 2
8 JIS B 2401-1B-P65 2
9 Cover Plate 2
10 Bolt M16x55L 8

PAGE 36



